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9 Settlement

9.1 Overview

Settlement is the process used to resolve financial obligations for market services procured through ERCOT for Registered Market Participants. Settlement will also assess miscellaneous fees and provide transmission billing determinants to Transmission Providers. 

9.2 Settlement Charges 

Settlement charges need additional detailing.  The SWG had further clarified the settlements processes and equations, but these changes are not reflected in this Board-approved draft version.  

9.2.1 Legend

The following are terms and acronyms defined for use in this Section.  All variables are further defined in the corresponding settlement calculations.  

Because of these unique variables, this section has not been trued up with the terminology of  Section 2.

Can we strive to make acronyms similar with those defined in Section 2?

Variable
Description

i

interval


u

Unit

z

Zone

All QSE
All QSE values

RU
Regulation Up

RD
Regulation Down

RR
Responsive Reserves

NS
Non-Spinning Reserves

RP
Replacement Reserves

OOM
Out of Order Merit

OOPS
Out of Possibilities

RMR
Reliability Must-Run

RI
Resource Imbalance

LI
Load Imbalance

CSC
Commercially Significant Constraint

CI
Capacity Insufficiency

OC
Operational Congestion

UC
Uplift Charge

CSCI
CSC Impact

MCPC

Market Clearing Price for Capacity 

MCPE 
Market Clearing Price for Energy

PC
Procured Capacity

Q
Capacity Quantity

OB
Obligations for Ancillary Service

SA
Self arranged quantities

NPC
Not-provided capacity

MR
Metered Resource Value

LA
Load Allocation

RS
Resource Schedule

US
Underscheduled Allocation (replacement)

SP
Shadow Price

SPC
Capacity Shadow Price (replacement)

SPE
Energy Shadow Price (replacement)

AML
Adjusted Metered Load

FL
Final Load (at time of purchase)

LRS
Load Share Ratio

E
Energy Amount

ER
Energy Rebate

NP
Non-Performance

BP
Bid Price

CC
Carrying Cost

HR
Heat Rate

FI
Fuel Index

SB
Standby Fee (RMR)

SU
Startup Fee (RMR)

HRS
Hours

9.2.2 Regulation Reserves Capacity

Regulation consists of the operating reserves that are intended to help restore the frequency of the interconnected transmission system within the first few minutes of an event that causes a significant deviation from the standard frequency of 60 Hz.

Regulation will be settled per each QSE by hourly interval.

Regulation is purchased system-wide on a portfolio basis.

A portion of a QSE’s bid can be awarded.
9.2.2.1 Regulation Up to Provider

Calculate Regulation Up Reserve to Provider of a given QSE by multiplying the Awarded Regulation Up Reserve quantity sold to ERCOT by the MCPC for Regulation Up Reserve.

PCRUi 
= 
-1 * ((QDRUi + QARUi ) * MCPCRUi )

where:

i
interval being calculated

PCRUi
Procured Capacity for
Regulation Up Reserve Resource for that interval

QDRUi
Awarded Regulation Up Reserve Quantity in the Day Ahead Market per interval

QARUi 
Awarded Regulation Up Reserve Quantity in the Adjustment Market per interval

MCPCRUi
Regulation Up Reserve Market Clearing Price of Capacity per interval.

The Regulation Up Reserve to Provider will equal the awarded capacity quantity for the interval multiplied by the Market Clearing Price for Capacity for that interval. The (-1) in the formula ensures the sign convention principle for the Settlement Amount is maintained. Negative Settlements will represent payments to QSE’s; Positive Settlements will represent payments due to ERCOT.

The clearing prices are the highest price of the day ahead and the adjustment markets. 

9.2.2.2 Regulation Up Load Allocation

Calculate Regulation Up Reserve charge by subtracting the Self-Arranged Regulation Up Reserve quantity from the Regulation Up Reserve purchased by ERCOT for the QSE. Multiply the difference by the MCPC for Regulation Up Reserve

LARUI 
= ((OBRUi – SARUi) * MCPCRUi) 
where:

i:
interval being calculated

LARUI:
Regulation Up Reserve Charge per interval

OBRUi:
Obligated Regulation Up Reserve per interval

SARUi:
Self Arranged Regulation Up Reserve per interval

MCPCRUi:
Regulation Up Market Clearing Price of Capacity per interval

9.2.2.3 Regulation Down to Provider

Calculate Regulation Down charge by subtracting the Self-Arranged Regulation Down quantity from the Regulation Down purchased by ERCOT for the QSE. Multiply the difference by the MCPC for Regulation Down.

PCRDi 
= 
-1 * ((QDRDi + QARDi ) * MCPCRDi )

where:

i:
interval being calculated

PCRD:
Procured Capacity for
Regulation Down Reserve Resource 

QDRDi:
Awarded Regulation Down Reserve Quantity in the Day Ahead Market per interval

QARDi 
Awarded Regulation Down Reserve Quantity in the Adjustment Market per interval

MCPCRDi:
Regulation Down Reserve Market Clearing Price of Capacity per interval.

The Regulation Down Reserve to Provider will equal the awarded capacity quantity for the interval multiplied by the Market Clearing Price for Capacity for that interval. The (-1) in the formula ensures the sign convention principle for the Settlement Amount is maintained. Negative Settlements will represent payments to QSE’s; Positive Settlements will represent payments due to ERCOT.

The clearing prices are the highest price of the day ahead and the adjustment markets.

9.2.2.4 Regulation Down Load Allocation

Calculate Regulation Down Reserve charge by subtracting the Self-Arranged Regulation Down Reserve quantity from the Regulation Down Reserve purchased by ERCOT for the QSE. Multiply the difference by the MCPC for Regulation Down Reserve

LARDI 
= ((OBRDi – SARDi) * MCPCRDi) 
where:

i:
interval being calculated

LARDI:
Regulation Down Reserve Charge per interval

OBRDi:
Obligated Regulation Down Reserve per interval

SARDi:
Self Arranged Regulation Down Reserve per interval

MCPCRDi:
Regulation Down Market Clearing Price of Capacity per interval

9.2.3 Responsive Reserve Capacity

Responsive Reserve consists of the operating reserves that are intended to help restore the frequency of the interconnected transmission system within the first few minutes of an event that causes a significant deviation from the standard frequency of 60 Hz.

Responsive Reserve will be settled per each QSE by hourly interval.

Responsive Reserve is purchased system-wide on a portfolio basis.

A portion of a QSE’s bid can be awarded.

9.2.3.1 Responsive Reserve to Provider 

Calculate Responsive Reserve to Provider by multiplying the Awarded Responsive Reserve quantity sold to ERCOT by the MCPC for Responsive Reserve.

PCRRi 
= 
-1 * ((QDRRi + QARRi ) * MCPCRRi )

where:

i:
interval being calculated

PCRR:
Procured Capacity for
Responsive Reserve Resource 

QDRRi:
Awarded Responsive Reserve Quantity in the Day Ahead Market per interval

QARRi
Awarded Responsive Reserve Quantity in the Adjustment Market per interval

MCPCRRi:
Responsive Reserve Market Clearing Price of Capacity per interval.

The Responsive Reserve to provider will equal the awarded capacity quantity for the interval. multiplied by the Market Clearing Price for Capacity for that interval. The (-1) in the formula ensures the sign convention principle for the Settlement Amount is maintained. Negative Settlements will represent payments to QSE’s, Positive Settlements will represent payments due to ERCOT.

The clearing prices are the highest price for the day ahead and the adjustment markets. 

9.2.3.2 Responsive Reserve Load Allocation 

Calculate Responsive Reserve charge by subtracting the Self-Arranged Responsive Reserve quantity from the Responsive Reserve purchased by ERCOT for the QSE. Multiply the difference by the MCPC for Responsive Reserve

LARRi = ((OBRRi – SARRi) * MCPCRRi) 

where:

i:
interval being calculated

LARRi:
Responsive Reserve Load Allocation per interval

OBRRi:
Obligated Responsive Reserve per interval

SARRi:
Self Arranged Responsive Reserve per interval

MCPCRRi:
Responsive Market Clearing Price of Capacity per interval

9.2.4 Non-Spinning Reserve Capacity Settlement

Non-Spinning Reserve Service is provided through utilization of the portion of off-line generation capacity capable of being synchronized and ramped to a specified output level within thirty minutes (or load that is capable of being interrupted within 30 minutes) and that is capable of running (or being interrupted) at a specified output level for at least 1 hour. NSRS may also be provided from unloaded on-line capacity that meets the above response requirements and that is not participating in any other activity, including ERCOT markets, self-generation and other energy transactions.

Non-Spinning Reserves are bid by portfolio, and a portion of a QSE’s bid can be awarded. Regardless of whether it is bid by zone, the MCPC for Non-Spinning Reserves will be system wide.

9.2.4.1 Non-Spinning Reserve to Provider

Calculate Non-Spinning Reserve to Provider for a given QSE by multiplying the Awarded Non-Spinning Reserve quantity sold to ERCOT by the MCPC for Non-Spinning Reserve.

PCNSi 
= 
-1 * ((QDNSi + QANSi ) * MCPCNSi )

where:

i:
interval being calculated

PCNSi:
Procured Capacity for
Non-Spinning Reserve Resource for that interval

QDNSi:
Awarded Non-Spinning Reserve Quantity in the Day Ahead Market per interval

QANSi 
Awarded Non-Spinning Reserve Quantity in the Adjustment Market per interval

MCPCNSi:
Non-Spinning Reserve Market Clearing Price of Capacity per interval.

The Non-Spinning Reserve to Provider will equal the awarded capacity quantity for the interval multiplied by the Market Clearing Price for Capacity for that interval. The (-1) in the formula ensures the sign convention principle for the Settlement Amount is maintained. Negative Settlements will represent payments to QSE’s; Positive Settlements will represent payments due to ERCOT.

The clearing prices are the highest price of the day ahead and the adjustment markets. 

9.2.4.2 Non-Spinning Reserve Load Allocation

Calculate Non-Spinning Reserve charge by subtracting the Self-Arranged Non-Spinning Reserve quantity from the Non-Spinning Reserve purchased by ERCOT for the QSE. Multiply the difference by the MCPC for Non-Spinning Reserve

LANSI 
= ((OBNSi – SANSi) * MCPCNSi) 
where:

i:
interval being calculated

LANSI:
Non-Spinning Reserve Charge per interval

OBNSi:
Obligated Non-Spinning Reserve per interval

SANSi:
Self Arranged Non-Spinning Reserve per interval

MCPCNSi:
Non-Spinning Market Clearing Price of Capacity per interval

9.2.5 Replacement Reserve Capacity Settlement

Replacement reserve bids are accepted in total.

Replacement Reserve is bid by unit by zone or by unit by subzone.

Capacity bought by ERCOT from the QSE.

9.2.5.1 Replacement Reserve Service to Provider

Does this formula or its application address that there may be multiple markets for RPRS (i.e. several Adjustment Period runs for the same Settlement Interval)?

Is there an allocation for CSC congestion that reflects path flows, and accounts for the interim period and zonal method?

Calculate Replacement Reserve for a given QSE by multiplying the Accepted Unit Replacement Reserve Quantity by the Replacement Reserve Market Clearing Price of Capacity for each of the zones and Subzones within a CM zone

PCRPiuz 
= 
–1 *
(MCPCRPiuz * QRpiuz)

where:

i 
interval being calculated.

z
zone

u 
unit

PCRPiuz
Procured Capacity of Replacement Reserve per unit by zone per interval

QRPiuz
Accepted Unit Adjustment Replacement Reserve Quantity per interval per zone per QSE.

MCPCRPiuz
Unit specific Replacement Reserve Market Clearing Price of Capacity per interval per zone.

Intervals for capacity equal one hour.

9.2.5.2 Replacement Reserve Under-Scheduled Cost Allocation

The Replacement Reserve Under Scheduled Charge is meant to recover the portion of Replacement Reserve applicable to a QSE under scheduling in a zone. Calculate Replacement Reserve Under-Scheduled Charge by multiplying the Replacement Reserve Market Clearing Price of Capacity for each zone by the QSEs positive schedule imbalance or zero which ever is greater.

Section 6 is drafted as the greater imbalance given the schedule at the time of the market run or the final schedule.  Need to true up this with Section 6.

USRPiz = 
MCPCRPiz * max(0,max(AMLiz – FLiz))

where:


i:

Interval being calculated.


Z:

Zone

USRPi:
Replacement Reserve Under Scheduled Charge

MCPCRPiz:
 Replacement Reserve Market Clearing Price of Capacity per interval per zone.

AMLiz:
Adjusted Metered Load per interval per zone, which will include estimated and/or actual values.

FLiz:
Current Scheduled Load per QSE per Interval per zone at the time of capacity procurement. FLiz will equal ?????? the minimum scheduled amount in any interval by QSE. Alternative: FLiz will equal the scheduled amount in the interval where the actual zonal peak occurred. [FIX Formula]

Replacement Reserve CSC Capacity Costs

At market open, the CSC capacity costs will be drawn against the System Congestion Fund. It is not directly charged to the QSEs. After the system has been modified to incorporate zonal congestion management, charges will be allocated to QSEs causing the congestion that do not have TCRs for the amount of MW impact on the CSC. The Replacement Reserve CSC Capacity costs are summed across all of ERCOT when tracking against the $20M fund.

Need to at least describe how Shadow Price is determined.

Calculate the Replacement Reserve CSC Capacity Cost by multiplying the Shadow Price of CSC Capacity per interval for each zone by the CSC Impact less any applicable TCRs or zero whichever is greater. 

Icsci = sum of {(Scheduled Generation in that zone by QSE – Scheduled Obligation in that zone by QSE)times SFz csc} 

CSCRPi 
= 
(SPCCSCi* max(0,CSCII – TCRcsci) 

Icsci =

(SUM(QRSiz – SOiz) * SFzcsc)

where:



i:

Interval being calculated.



z:

CSC zone being settled.

CSCRPi:
Replacement Reserve CSC Capacity Cost per interval per QSE

SPCCSCi
Shadow Price of CSC Capacity per interval 

Icsci:
CSC Impact per QSE

QRSiz:

QSE Resource Schedule per interval per zone

SOiz:
Scheduled Obligation per interval in that zone SFzcsc
Shift Factor per CSC per zone

TCRcsci:
Total Transmission Congestion Right per MW on a CSC per QSE.

9.2.5.3 Replacement Reserve Uplift 

This charge is meant to recover the portion of Replacement Reserve that was not applicable to a QSE under scheduling and not recovered in the CSC Congestion Fund. 

Calculate Replacement Reserve Uplift by subtracting the Replacement Reserve Under Scheduled Charge and the Replacement Reserve CSC Capacity Cost from the total cost of Replacement Reserve and multiplying it by the QSEs hourly Load Ratio Share.

In the formula below, PC doesn't seem to discriminate the Quantity procured due to underscheduling.

UCRPi 
= 
SUM(PCRPiAll QSE) – SUM(USRPiAll QSE) – SUM(ICSCRPiAll QSE) * LRSi

where:

i:

Interval being calculated.



z:

CSC zone being settled.



UCRPi:

Replacement Reserve Uplift Charge

PCRPiAll QSE:
Replacement Reserve Cost

USRPiAll QSE:
Replacement Reserve Under Scheduled Charge

ICSCRPiAll QSE:
Replacement Reserve CSC Impact Capacity Charge

LRSiQSE:
Load Ratio Share (Actual Metered Load / Total System Load) per hourly interval per QSE 

9.2.6 Imbalance Settlement

Is the following a comment?

Both load and resource (generation and loads acting as a resource) Note: data aggregation for data acquisition imbalance amounts are calculated using the Balancing Energy Price for each interval for that zone. 

The amount per each QSE could be positive or negative, depending on the actual meter reads but should balance to a revenue neutral settlement for the total market.

Balancing Energy is settled per each QSE by interval and by zone.

Several Protocol sections seem to suggest a system-wide BE price during the interim period.  Need to make consistent.

Also there seems to be no settlement for Balancing Energy for CSC congestion.

9.2.6.1 Resource Imbalance

Calculate Resource Imbalance by calculating the difference between the actual metered resource and the instructed resource schedule. Multiply uninstructed quantity by the MCPE for uninstructed energy imbalance. 

Resource Imbalance for each QSE for each interval for each zone will equal the Resource Schedule – the Actual Meter read for the Resource multiplied by the Market Clearing Price for Energy.

RIiz = ((QRSiz – MRiz) ( MCPEiz)
where:

i:
interval being calculated (energy = 15 minutes)

z:
zone being settled

RIiz:
Resource Imbalance per interval per zone by QSE.

MRiz:
Metered value for the Resource per interval, per zone using actual and/or estimated values.

QRSiz:
QSE Resource Schedule per interval per zone

MCPEiz:
Resource Market Clearing Price of Energy per interval per zone

Note: Uninstructed Deviation decision May impact this __ ______________________________________________________________

Design Equation

Resource Imbalance will be calculated by summing the Instructed Resource Imbalance Charge and the Uninstructed Resource Imbalance Charge. 

This is a placeholder to be calculated when the market decides to separate Uninstructed Deviations from Instructed Deviations. This Quantity would have to be defined.

 
TRIit 
= 
SUM(RIiz) –(QRSiz+ URIit

URIit 
= 
(UIQit ) * URMCPE?(this to be calculated later in the market. Right now URMCPE = 0.
where:

i:
interval being calculated energy = 15 minutes 

z:
zone being settled

t 
total

UIQ 
Uninstructed Imbalance Quantity

TRIiz:
Total Resource Imbalance per interval per zone

RIiz:
Instructed Resource Imbalance per interval per zone

URIiz:
Uninstructed Resource Imbalance per interval per zone
___________________________________________________________________

9.2.6.2 Load Imbalance 

Calculate Load Imbalance by subtracting the actual metered load from the sum of the QSE scheduled load and the Self-Arranged load. Multiply the difference by the MCPE for load imbalance. 

It is not clear what the intent of "Self-Arranged" load is here.  Other protocol sections only contemplate Self-Arranged Ancillary Services, which would not affect Load Imbalance.

Load Imbalance for each QSE for each interval for each zone will equal the Load Schedule – the Adjusted Meter Load multiplied by the Market Clearing Price for Energy. The (-1) in the formula ensures the sign convention principle for the Settlement Amount is maintained. Negative Settlements will represent payments to QSE’s, Positive Settlements will represent payments due to ERCOT.

LIiz = –1 * (SLiz – AMLiz) * MCPEiz
where:

i:
interval being calculated

z:
zone being settled

LIiz:
Load Imbalance per interval per zone

SLiz:
Scheduled Load per interval per zone (total obligation – QSE trades)

AMLiz:
Adjusted Metered Load per interval per zone, which will include estimated and/or actual values.

MCPEiz:
Load Market Clearing Price of Energy per interval per zone

9.2.7 Out of Merit (OOM) Settlement

9.2.7.1 OOM Capacity to Provider

OOM Settlement will be awarded capacity of Replacement Reserve out of merit at the lower of 1.5 ( MCPC for Replacement or Bid price.

Capacity payment per unit. QSE payment is the sum of all units for that QSE awarded OOM Capacity. 

Out Of Merit (OOM) Settlement per QSE will equal the sum of all units awarded OOM by unit by interval by zone for that QSE multiplied by the lower of 150% of the Market Clearing Price for Capacity of Replacement Reserves or the Unit’s Bid Price for each interval per zone.

**Need to add a OOM Factor instead of 1.5

Question: How does the formula need to be modified to respond to negative prices or a zero MCPC?

PCOOMuiz
 = 
(QOOMuiz ) ( MIN(1.5 ( MCPCRPiz,, BPuiz)) (-1

where:

i 
interval 

u
unit

z
zone

PCOOMuiz 
Procured Out of Merit Capacity

MCPCRPiz 
Market Clearing Price of Capacity for Replacement Reserve for the given zone per interval

BPuiz
Bid Price of the unit per interval per zone

QOOMuiz 
Out of Merit Capacity awarded quantity 

9.2.7.2 OOM Capacity Load Allocation

OOM Capacity will be allocated based on load ratio share.

LAOOMi
=
SUM(PCOOMALLQSEi) ( LSRi 

where:

i 
interval 

u 
unit

z
zone

LAOOMi 
OOM Load Allocation

PCOOMiAll QSE:
OOM Capacity Costs for that interval

LSRi 
Load Share Ratio (Actual Metered Load / Total System Load) for the QSE per interval

9.2.7.3 OOM Energy to Provider

Out Of Merit (OOM) Settlement for energy per QSE will equal the sum of all units deploying OOM energy by unit by interval by zone for that QSE multiplied by the higher of the Market Clearing Price for Energy for that zone or the product of the 18 heat rate (**Notify vendor this is the value today) and fuel index. 

"18 heat rate"?  Needs revision.

EOOMiuz = 
 QOOMuiz ( Max(0,Max(MCPEiuz,(FI ( HR)-MCPEiz)

Qoomuiz = Min(MRuiz,Boomiuz)

where:

i
interval 

u
unit

z
zone

FI
Fuel Index

HR
Standard Heat Rate for OOM

EOOMiuz
Out of Merit Energy Payment for that interval per unit per zone

QOOMiuz 
OOM quantity deployed for that unit per interval per zone

B
OOM Bid Deployed for that interval for that unit

MRuiz
Meter Reading for that unit for that interval for that zone

9.2.7.4 OOM Energy Load Allocation

Out Of Merit (OOM) Energy Load will be allocated on a load share ratio per QSE by taking the each QSE’s portion of the sum of the difference of the Average OOM Energy Price and the Market Clearing Price for Energy per zone for all zones, or zero (whichever is greater), multiplied by the total OOM energy quantity provided by all QSEs for that interval.

Paragraph above could be clarified.

ELAoomi 
= SUM(Eoomuiz)z ( LRSi

where:

i 
interval 

u 
unit

z 
zone

ELAOOMi
OOM Load Energy Allocation

LRSi
Load Ratio Share for that interval for that QSE**check for consistency on this designation

QOOMAllQSEiuz
OOM quantity deployed for all QSEs for that interval for that zone for units with the same price 

EOOMiuz
Out of Merit Energy Payment for that interval per unit per zone

Questions:

How could a Bid Price work when you are paying based on fuel rate and heat index since a unit’s bid price will not necessarily equal the heat rate multiplied by fuel index?

The strawman references this type of formula: If (OOM ENERGY Bid Price > MCPE) then (Diff(OOM Energy, MCPE)) ( OOM Qty ( QSE’s % load ratio for each settlement interval per unit. 

Paying on heat rate/fuel index and collecting on Bid Price will not support revenue neutrality.

9.2.8 RMR Settlement

9.2.8.1 RMR Energy to Provider

MOS must pass RMR specific determinants, such as any start up costs, fuel costs, Heat Rates and Fuel Indexes.

RMR will be settled through QSE’s who will in turn settle with RMR owners.

The RMR Energy Payment for a QSE will equal the sum of all units for that QSE, for that interval, for each zone multiplied by the greater of the Market Clearing Price for Energy or the result of the Heat Rate multiplied by the Fuel Index.

ERMRiz 
= 
SUM (QRMRuiz ( max((HRu ( FI), MCPEiz)) ( –1

Where:

i 
interval

u 
unit

z 
zone

ERMRiz 
RMR Energy Dollar Amount per interval per zone

QRMRuiz
RMR quantity deployed

HRu
Heat Rate of that unit

FI
Fuel Index

MCPEiz
Market Clearing Price for Energy for that interval for that zone

9.2.8.2 RMR Balancing Energy Rebate

The RMR Energy Rebate is provided to ERCOT when an RMR unit provides additional energy into the Balancing Energy market greater than what the unit was requested to provide by ERCOT. 

This amount for a given QSE is calculated by subtracting ERCOT requested quantity of the unit during that interval from the actual RMR quantity provided by that unit during the same interval. If the difference is greater than zero, it is multiplied by the result of Market Clearing Price for Energy multiplied by a market approved rebate percentage. 

The Energy Rebate amount is applied to the RMR Reserve Load Allocation.

ERRMRi
= 
SUM[max(0, (MRiuz – RSiuz)) ( MCPEiz ( RP]

where:

i
interval

u
unit

ERRMRiz
RMR Energy Rebate Amount for that interval for that zone

MRiuz:
Metered value for the Resource per interval for that unit per zone using actual and/or estimated values.

RSiuz
Resource Scheduled quantity for that unit per interval per zone

MCPEiz
Market Clearing Price for Energy per interval in that zone

RP
Approved Rebate Percentage (currently 10%)

9.2.8.3 RMR Start-up

SURMRi
= 
to be determined

where:

i
interval

u
unit

z
zone

SURMRi
RMR Startup Amount for that interval

9.2.8.4 RMR Standby Fee

The RMR Standby Fee is contracted to RMR units and settled on an hourly basis. It is determined for a given QSE by taking the sum of the contracted RMR unit’s annual carrying cost divided by the number of hours in a year and multiplying the total result by 70%. 

SBRMRi
=
SUM[((CCu / HRSY) (.70)] ( –1

where:

i
interval

u
unit

SBRMRi
RMR Standby Fee for that interval

CCu
Annual Carrying Cost of that Unit
HRSY
Hours in the Year

9.2.8.5 RMR Non-Performance

Any costs that ERCOT incurred for energy that was not provided when called on by a contracted RMR unit will be refunded with this charge.

Non-Performance costs are calculated by subtracting the unit’s meter read from the Scheduled RMR Quantity. If this amount is greater than zero, then the difference is multiplied by either the result of the unit’s heat rate multiplied by the Fuel Index or the Market Clearing Price of Energy for that interval in the zone that the unit resides, whichever is greater.

NPRMRi = 
SUM[max(0,RSuiz – MRuiz) ( max((HRu ( FI), MCPEiz)

where:

i
interval

u
unit

z
zone

NPRMRi 
RMR Non Performance Amount for that interval

RSuiz
Resource Scheduled quantity for that unit per interval per zone 

MRiuz:
Metered value for the Resource per interval for that unit per zone using actual and/or estimated values.
HRu 
Heat Rate for that unit

FI
Fuel Index

MCPEiz)
Market Clearing Price for Energy per interval in that zone

9.2.8.6 RMR Reserve Load Allocation

Reliability Must-Run Costs will be allocated on a load share ratio per QSE by taking each QSE’s portion of:

the sum of the difference of the Average OOM Energy Price and the Market Clearing Price for Energy per zone for all zones, or zero (whichever is greater), multiplied by the total OOM quantity provided by all QSEs for that interval.

LARMRi 
= SUM(ERMRi, ERRMRi, SURMRi, SBRMRi, NPRMRi) ( LSRi

where:

LARMRi 
RMR Load Allocation for that interval

ERMRi
RMR Energy Dollar Amount per interval per zone
ERRMRi
RMR Energy Rebate Amount for that interval for that zone
SURMRi
RMR Startup Amount for that interval
SBRMRi
RMR Standby Fee for that interval
NPRMRi
RMR Non Performance Amount for that interval
LSRi
Load Share Ratio for that interval

9.2.9 Transmission Billing Determinant Calculation

 Consensus has yet to be reached on this calculation methodology.  In addition, further work has been done that is not reflected in this document.

Billing determinants for transmission are calculated using the annual average over the 4 coincident peak (CP) hours in June, July, August and September. 

Beginning in 2002, opt-out wholesale transmission customers would continue to be assessed an annual charge for transmission services based on their share of the ERCOT average 4-CP demand and will be billed at 1/12 of their annual rate per month.

Competitive loads would be responsible for the remaining 4-CP peak demand. In each month, users of the transmission system would be responsible for its share of the CP demand. The coincident peak hour will be identified by ERCOT and the settlement process will calculate each competitive load’s share of the CP demand and provide to the Transmission Provider. Each transmission provider will invoice the appropriate Registered Market Participant as determined by the PUCT.

For example, 

Assume previous year’s 4-CP = 50,000 MW with the following aggregate demand distribution:

· Aggregate 4-CP wholesale demand for non-competitive loads = 20,000 MW

· Aggregate 4-CP Retail Electric Provider (REP) wholesale demand for competitive loads = 30,000 MW

· Total 4-CP




 

 = 50,000 MW

For the current month CP assume ERCOT identifies the current month’s ERCOT-wide CP occurs between 1700 and 1800 on the 15th :

· Aggregate CP REP demand during this hours = 15,000 MW

· Translation Factor = (Aggregate REP 4-CP demand)/(Monthly aggregate REP demand = 30,000/15,000 = 2

Therefore,

· If REP A’s current month CP demand in the hour beginning at 1700 on the 15th = 1000 MW

Then,

· REP A’s current month transmission billing determinants provided by the settlement process to the transmission provider = (REP A’s current month CP demand * Translation Factor) = 1,000 MW * 2 = 2,000 MW,

which is then applied to each transmission provider’s PUCT approved monthly Postage Stamp rate in $/MW.

For the Customer Choice Pilot, there will be a slight modification to the above calculation.

Modification needs to be described.

Proposed Modification: (Presented at the May 25/26 SWG) 

Billing determinants for transmission during the Customer Choice Pilot are calculated using the annual average over the 4 coincident peak (CP) hours in June, July, August and September for the year 2000. 

For each month ending for June, July, August, September, October, November, and December, 2001, settlement will identify the hour and total of the ERCOT-wide coincident peak demand for the month ending. Settlement will also total, in the coincident peak hour, each REP’s ERCOT-wide retail demand. 

The settlement process will calculate each competitive load’s share of the CP demand and provide to the Transmission Provider. Each transmission provider will invoice the appropriate Registered Market Participant as determined by the PUCT.

For example,

REP CP Demand =4CPYr2000

MPeak Demand = Monthly total CP

REP Demand Factor = REP CP Demand/MPeak Demand

Therefore, 

REP Transmission Billing Determinant = Coincident REP Demand * REP Demand Factor

9.3 Settlement Statement Process

ERCOT will produce daily settlement statements reflecting a breakdown of market charges for hourly and 15-minute market services. The statement will also reflect administrative and miscellaneous charges. 

The statement process occurs daily, and is published on the third calendar day after the Operating Day. If that is not a Business Day, the statement is published on the next Business Day thereafter.

Protocols could benefit from a clear up front discussion of the process, including the relationship between the various statement types, which use estimated data, which use actual data, what payment obligations are for each, etc.  Also, there seems to be no discussion in the protocols anywhere of these methodology of estimating data and then using actual data as it becomes available.  This needs to be here or in data aggregation (metering).  From that discussion it should be clear to QSE's how they will know if estimated or actual data is being used.

9.3.1 Settlement Statements

Settlement statement will be issued for each Operating Day and will be issued to Market Participants electronically on Business Days. In order to publish a settlement statement, ERCOT may use estimated, disputed or calculated Meter Data and schedule information.  When actual verified data and schedule information is available and all of the disputes raised by Statement Recipients during the validation process have been determined, ERCOT shall recalculate the amounts payable and receivable by the affected Statement Recipient, if applicable, as soon as reasonably practical and shall show any required adjustments as a debit or credit in the next settlement statement for that Operating Day.

Settlement statements will denote:

· Operating Day

· Statement Recipient’s name and ERCOT identifier

· Status of the statement (initial, final, resettlement or true-up)

· The version number

· A unique statement identification code

Settlement Statements will breakdown fees by market services into the appropriate settlement interval for that service.  When a dispute has been entered for a settlement the settlement statement will denote the dispute status.

9.3.1.1 Initial Settlement Statements 

ERCOT will use Initial Settlement Data to produce the Initial Settlement Statement for each Statement Recipient for the given Operating Day. Initial Settlement Statement will be provided at the end of the third calendar day following the Operating Day. If that is not a Business Day, the Initial Settlement Statement is published on the next Business Day thereafter. The statement will include services for each Settlement Interval in the given Operating Day. See attached file.

(examples will be provided).

9.3.1.2 Contents of the Initial Settlement Statement

The Initial Settlement Statement will include the billable quantity, market clearing prices for the service, the type of market service, and the total net amount payable to or receivable from the QSE for each of the market services for each Settlement Interval in the given Operating Day.

Data components used by ERCOT to prepare the Initial settlement statement include:

· Aggregated estimated and actual interval and profiled consumption data for retail loads by specific zones

· Aggregated estimated and actual interval consumption data for generation by specific zones

· Aggregated estimated and actual interval consumption data for UFE zones (if there are multiple UFE zones)

· Generation schedules

· Retail load schedules

· Hourly and 15 minutes market clearing prices for each market service

· Hourly and 15 minute performance for each market service

· Hourly and 15 minute obligations for each market service

9.3.2  Final Settlement Statement 

ERCOT will use Final Settlement Data to produce the Final Settlement Statements for each Statement Recipient for the given Operating Day. Final Settlement Statements will be provided at the end of the 45th calendar day following the Operating Day. If the 45th calendar day is not a Business Day, the Final Settlement Statement will be provided on the following Business Day. 

9.3.2.1 Contents of the Final Settlement Statement

Data components used by the ISO to prepare the Final Settlement Statement include:

· Aggregated estimated and actual interval and profiled consumption data for retail loads by specific zones

· Aggregated estimated and actual interval consumption data for generation by specific zones

· Aggregated estimated and actual interval consumption data for UFE zones (if there are multiple UFE zones)

· Generation scheduled

· Retail load schedules

· Hourly and 15 minutes market clearing prices for each market service

· Hourly and 15 minute performance for each market service

· Adjustments from approved disputes or errors in data

The Final Settlement Statement will have a summary page of the corresponding detailed documentation. (See Settlement Attachment.)

9.3.3 Resettlement Statement

ERCOT will use Resettlement Data to produce a Resettlement Statement prior to the Final Settlement or True-Up Statement. Resettlement Data will include all available actual and necessary estimated or profiled data, data corrections and determinant changes due to disputes.  The Resettlement Statement will include the billable quantity, market clearing prices for the service, the type of market service and the total adjusted net amount payable to or receivable from the Statement Recipient for each of the services.  The Resettlement Statement will reflect any and all changes to transactions that posted to the corresponding Initial or Final Settlement Statement by indicating the changes to any quantity, price and subsequent settlement amount.  Only those transactions that have changed, or any new transaction that posts to the Resettlement Statement will be captured on the appropriate invoice.

 The Working Groups are currently detailing the Re-Settlement Process.  Please refer to Attachment: Resettlement Guidelines Strawdog.

The Resettlement Settlement Statement will have a summary page of the corresponding detailed documentation. (See attached file)

This seems a bid odd that the Resettlement Statement would occur before the True-Up or Final Settlement Statements. Doesn’t it seem early in the process to expect significant resettlements? The definition of resettlement: statement produced using corrected initial or final settlement data due to approved disputes or other data errors. Also see the resettlement process and resettlement data definitions.

9.3.3.1 Notice of Resettlement

ERCOT shall post a Notice of Resettlement on ERCOT website notifying Statement Recipients that a specific Operating Day will be resettled and the date the Resettlement Statement will be issued by ERCOT.

9.3.3.2 Contents of the Resettlement Statement

The statement will summarize charges for each Settlement Interval over the Operating Day, and provide a grand total for the day of the net amount payable to or receivable from the QSE for each market service.  The Resettlement Statement will reflect any and all changes to transactions that posted to the corresponding Initial and/or Final Settlement Statements by indicating the changes to any quantity, price and subsequent settlement amount.  Only those transactions that have changed, or any new transaction that posts to the Resettlement Statement will be captured on the appropriate invoice.

Data components used by the ISO to prepare the Resettlment Settlement Statement include:

· Aggregated estimated and actual interval and profiled consumption data for retail loads by specific zones

· Aggregated estimated and actual interval consumption data for generation by specific zones

· Aggregated estimated and actual interval consumption data for UFE zones (if there are multiple UFE zones)

· Generation scheduled

· Retail load schedules

· Hourly and 15 minutes market clearing prices for each market service

· Hourly and 15 minute performance for each market service

· Adjustments from approved disputes or errors in data

The Resettlement Statement will have a summary page of the corresponding detailed documentation. (See Settlement Attachment.)

9.3.4 True-Up Statement 

ERCOT will use all available Initial, Final, and Resettlement Data to produce the True-Up Statement for each Statement Recipient for the given Operating Day. True-Up Statements will be provided at 11 months. If the 11 month calendar day is not a Business Day, the True-Up Statement will be provided on the next Business Day.

 Have received no response from SWG on this issue. Will retain language that was in the Informational filing.

9.3.4.1 Contents of True-Up Statement 

Data components used by the ISO to prepare the True-Up Settlement Statement include:

· Aggregated estimated and actual interval and profiled consumption data for retail loads by specific zones

· Aggregated estimated and actual interval consumption data for generation by specific zones

· Aggregated estimated and actual interval consumption data for UFE zones (if there are multiple UFE zones)

· Generation scheduled

· Retail load schedules

· Hourly and 15 minutes market clearing prices for each market service

· Hourly and 15 minute performance for each market service

· Adjustments from approved disputes or errors in data

9.3.4.2 Validation of the True-up Statement

Each Statement Recipient shall have the opportunity to review the terms of the True-up Statement that it receives.  The Statement Recipient shall be deemed to have validated each True-up Statement unless it has raised a dispute or reported an exception within ten (10) days.  Once validated, a True-up Statement shall be binding on the Statement Recipient to which it relates, unless ERCOT performs a subsequent Resettlement pursuant to this Protocol.

9.3.5 Confirmation

It is the responsibility of each Statement Recipient to notify ERCOT if it fails to receive an Initial, Final, Resettlement, or True-up Settlement Statement on the date specified for the publication of such Settlement Statement in ERCOT Payments Calendar.  Each Statement Recipient shall be deemed to have received its Settlement Statement on the dates specified, unless it notifies ERCOT to the contrary

9.4 Settlement Invoice

ERCOT will electronically provide to each Invoice Recipient and Invoice based on seven (7) initial, seven (7) Final, and any True-Up or resettlement statements produced in the last seven days from the prior invoice.  ERCOT shall issue the Invoices to the Invoice Recipient in accordance with ERCOT settlement/payment calendar.

9.4.1 Timing and Content of Invoice

Invoices will be issued on a weekly basis.  Invoice items will be grouped by Initial, Final, Resettlement and True-Up and will be sorted by Operating Day within each category.  Each invoice will contain:

Contents of the Invoice will include the following: 

· Net Amount Due/Payable – The aggregate summary of all Charges owed or due by a QSE summarized by Operating Day

· Time Periods – The time period covered for each line item

· Run Date – The date in which the invoice was created and published.

· Reference Number – A unique number generated by ERCOT systems for tracking purposes

· Statement Reference – An identification code used to reference each settlement statement invoiced.

· Payment Date and Time – The date and time that invoice amounts are to be paid or received.

· Remittance Information Details – details including the account number, bank name and electronic transfer instructions of ERCOT account to which any amounts owed by the Invoice Recipient are to be paid or of the Invoice Recipient’s account to which ERCOT shall remit payments owed.

· Miscellaneous Charges – Any late charges or other fees to be applied that are not related directly to market service settlement.

· Overdue Terms – The terms that would be applied if payment were received late.

9.5 Payment Process

9.5.1 Overview of Payment Process

Payments are performed in a two-step process in which all Invoices for funds owed by Invoice Recipient are paid first and all funds owed to Invoice Recipient are paid later in the Business Day.

Do we need another definition besides Settlement Recipient for use in this section? How will Invoice Recipients differ from Settlement Recipients? If we do have a distinct definition, who makes up a settlement recipient? An Invoice Recipient could be a Market Participant that receives an invoice from ERCOT for something other than settlement; e.g.. Admin fees, registration fees, etc.

 Payments to be made by electronic funds transfer.

9.5.2 Invoice Payments Due ERCOT 

The payment date for Invoices will be 30 calendar days from the date of the Invoice. If the 30th calendar day is not a Business Day, the Invoice will become due on the next Business Day.
Each Invoice Recipient owing monies shall remit the amount shown on its Invoice no later than 1000 on the relevant payment date. 

9.5.3 ERCOT Payment to Invoice Recipients. 

The payment date for funds owed to Invoice Recipients will be 30 calendar days from the date of the Invoice. If the 30th calendar day is not a Business Day, the Invoice will become due on the next Business Day.
ERCOT shall calculate the amounts available for distribution to Invoice Recipients on the payment date and shall give irrevocable instructions to ERCOT bank to remit to the Invoice Recipients for same day value the amounts determined by ERCOT to be available for payment. ERCOT shall make such payments no later than 1400 on the Payment Date.

9.5.4 Partial Payments

If one or more Invoice Recipient owing monies did not pay in full, ERCOT will follow the procedure below: 

9.5.5 Enforcing the Security of a Defaulting QSE

ERCOT will make reasonable endeavors to enforce the defaulting Invoice Recipient security to the extent necessary to pay the Default Amount. If it is not practical to obtain clear funds in time to initiate payment to the Invoice Recipient on the same day, ERCOT will issue reduced payments.

9.5.6 Late Fees 

A late fee of 2%  per month will be assessed against any amounts overdue.  Late fees will be calculated on past due amounts and prorated on a daily basis.

Any late payment penalty revenues shall be distributed to the parties that were underpaid on a pro rata basis based on monies owed. 

An Invoice Recipient that is more than 60 days past due will receive a certified letter notifying the Invoice Recipient of the past due amount with interest.

9.5.7 Payment Pending Dispute

Each Invoice Recipient will pay any net debit and be entitled to receive any net credit shown in the Invoice on the payment date, whether or not there is any dispute regarding the amount of the debit or credit. 

9.6 Billing and Dispute Process

9.6.1 Data Review, Validation, Confirmation and Dispute of Settlement Statements

Statement and Invoice Recipients must review their Settlement Statements and Invoices to verify the accuracy of the Settlement Data used to produce the Settlement Statement and Invoice. Statement and Invoice Recipients must submit any dispute related to Settlement Statement or Invoice data according to the settlement and billing dispute process.

9.6.2 Notice

A Statement or Invoice Recipient may dispute items or calculations set forth in its Initial Statements, Final Statements, or Resettlement Statements. 

If the Statement or Invoice Recipient wishes to dispute any these items or calculations, it will register the dispute with ERCOT by electronic means within 10 Business Days from the date of issue of the respective statement or Invoice. 

9.6.3 Contents of Notice

The notice of dispute will state clearly:

(1) The Operating Day;

(2) The statement or Invoice number;

(3) The statement type;

(4) Charge type;

(5) Time period disputed;

(6) Amount in dispute;

(7) Date of issue of the Settlement Statement or Invoice;

(8) Contact information;

(9) The dispute type;

(10) Reasons for the dispute.

The dispute must be accompanied with all available evidence reasonably required to support the claim. 

Notices will be submitted via an ERCOT approved electronic format. The Statement or Invoice Recipient will receive a dispute tracking identifier from ERCOT.

9.6.4 ERCOT Processing of Disputes

ERCOT shall determine if the dispute is valid by verifying that the dispute was submitted within the specified time and contains the minimum required information. ERCOT shall make reasonable attempts to remedy any informational deficiencies by working with the statement or Invoice Recipient. ERCOT will further make reasonable attempts to process disputes that are provided late. ERCOT will place priority on processing on-time disputes. 

A dispute will be deemed open when the Statement or Invoice Recipient submits a dispute to ERCOT. Any disputes deemed incomplete will be returned to the Statement or Invoice Recipient with an explanation of the missing data.

ERCOT will deny a dispute when ERCOT demonstrates that the information used in settlement is correct. ERCOT will notify the Statement or Invoice Recipient when a dispute is denied, and will document the supporting research for the denial. 

ERCOT will grant disputes “with exceptions” when the information is partially correct. ERCOT will provide the exception information to the Statement or Invoice Recipient when such disputes are granted for acknowledgement of acceptance of the exception information. 

If the exceptions are disputed, the dispute will remain open for further investigation. On resolution of the issue, the dispute will be processed on the next available Final or True-Up Settlement process.

ERCOT may grant disputes in their entirety. ERCOT will notify the Statement or Invoice Recipient and will document the research for resolution. On resolution of the issue, the dispute will be processed on the next available Final or True-Up Settlement process. The dispute is then closed.

ERCOT will make all reasonable attempts to resolve all valid disputes relating to all settlement types at the end of 10 Business Days and will post on the next Resettlement, Final or True-Up Settlement process. 

ERCOT will resolve disputes requiring complex research or additional time for resolution in a subsequent Final or True-Up Settlement. Statement or Invoice Recipients have the right to the ERCOT Alternative Dispute Resolution for disputes that cannot be resolved through the settlement and billing dispute process.

9.6.5 Disputes for Operational Decisions or Market Rules 

Statement or Invoice Recipients may not dispute a Settlement or Invoice Statement due to an operational decision or market rule. Inquiries concerning operational decisions or market rules must be handled through the appropriate ERCOT process.

9.6.6 Rights to Alternative Dispute Resolution

Any Statement or Invoice Recipient that believes that their disputes were not addressed sufficiently, correctly, or in a timely manner retains the rights to proceed to ADR to resolve outstanding issues in accordance with Section 20 
of these Protocols.
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